x+1 3x+1 x-1
>

= =
=2 o

® -2, -1,0, 1, 2

2

’

3 2

@ -1,0,1, 2

@ _15 09 15 29 3

AEREE



o|J

J
TE

@ -
9 ® 0 @ 3
® 5

® -13



3.

tlo

o2 AURESACR Ukl A F 22 227

Mo

o 4+ x o4 45 WjEl 10 B} A3, x ©] 3 ue] 3 S st
22 W} 24 ghet.

x—4<10 x—4<10
@) @)

3x+3>22 3x+3 <22

x—-4<10 x—4>10
® @

3x+3>22 3x+3<22

x+4<10

3x—3>22



8x—5<10
4. agwsy 2 WEst Aase] A
2(1+3x) <3x+8 Pl A

@ 174 @ 271 @ 374 @ 4 7 ® 574



Fx—5<Tx—-1<10x+ 2 ZEH?

@ x>-3 @ x<-1
® x<3



re

o] a2 Falolat,



3 3
Sa+1<Zbh+1
®5a+ <5+

® -3a-1<-3b-1
5 l—-a 1-b

>
3 3

@ 3-4a>3-4b

@ -0.1-2a<-01-2b



19

Mo

o

&2 o=t Al 6km o] £ 02 GEihal Ji
i olatetd Fel= A= km ofstel =Tt

km



9. AARSA —(4x+3)-325(x+1)92-2ax > 39 7} &S of,
a®] = Fstofet,

D
=%



10. 8% 9 A"E 300g2 5=7F 6% ©lst7t Bl == ot H 50 g =<
Aog g ol 5 golof 5t=7}?



SREES
x—4>3x-8
2x—a>x+5

D a<-2

@ a<-3

e A s
@ a>-2

® a<-3



® x>4



13.

= 4
- T
x—2

j
54

dx -k 3x+1

-x+1

2
“-stefzt.

3 7 4

> L
=

6

o 7t 2L o, 45 kY B



MNta<x<b¥d W, atbo S

-5<2x-1<39



D x>1

dx+1>2x+4

2x—2>8

@ x>1

of shg Fohm?

® x<1 @ x>5

® x<5



o) A%7k ah

2x—a>x+4

q
W, 44 a o gl sl

SRS

T(x—1)<5x+9

sholat

g7



17.

Al
=

re
o
-
ol

0%
(*]
rlr

B}

@D a>2

@ a<5h

10 - 2x > 3x

x—a>-3

@ a<?2

® 2<a<h

=8 ot 4% a o] 2

® a=5



